9/21/2016 Staff Selection Commision

Click to Print  logout

EXAM DATE : 1-September-2016EXAM
NAME : SSC Examination 2016TOTAL
MARKS : 200

Question 1.Select the related word/letters/number from the given alternatives.

&3 Iy ool & & Fafetre eree)/ 316RI/EEaT 1 giav|
Psychology : Human Being :: Ornithology : ?

TSP : FAT :: 3eATeelol :
Options:

1) Birds

qair

2) Volcanoes

SaTeTET

3) Insects

4) Reptiles

g

C
Correct Answer: Birds

qafr

Candidate Answer: Insects

Question 2.Select the related word/letters/number from the given alternatives.

T3 Iy faeneal & @ Farfeere erec)/ 3eRi/EEaT T giav|
EGIK : FHIL :: MOQS : ?

Options:

1) LNOQ

2) NPRT

3) KMOQ

4) NRPT
Correct Answer: NPRT
Candidate Answer: NPRT

Question 3.Select the related word/letters/number from the given alternatives.

&3 a3y faehenl & @ Fefetre Arse)/31&RI/EET 1 giAT|

147 : 741 :: 869 : ?
Options:
1) 896

2) 968
3) 689

4) 986
Correct Answer: 968
Candidate Answer: 968
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

39 eeT # QU 91C fehoul 7 & TawH rec) 316K/ EEdT oA g |
Options:

1) Herb

{Mh

2) Flower

27

) Tree

o

4) Shrub

8

Correct Answer: Flower
el
Candidate Answer: Shrub

EIE]

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

38 W & U 910 fashed] & & Tave ese/ 3R /e 37a v

Options:
1) KM

2) NOPQ
3) RSTU

4) VWXZ
Correct Answer: VWXZ
Candidate Answer: VWXZ

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

30 Y & U 97 fashed] 3 § fave eee)/ 3R/ I9A AT

Options:
1) (85, 136)

2) (34, 85)
3) (102, 153)

4) (63, 162)
Correct Answer: (63, 162)
Candidate Answer: (63, 162)

Question 7.Arrange the following words as per order in the dictionary
et ereal # ereehier 7 o v Ha & gar AT

1. Organ 2. Origin 3. Orient 4. Organic 5. Organise

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 2/31
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Options:
1)1,5,3,4,2

2)1,5 4,23
3)1,4,53,2
4)1,4,5723

Correct Answer: 1, 4,5, 3,2
Candidate Answer: 1, 4, 5, 3, 2

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
FERT T HleT-H1 FIfg WAl VAT T FHIR Tt F & 1S 38T ATl I G AT 6 2

_sSr_tr_srs_r_srst_
Options:

1) ttssrr

2) tsrtsr

3) strtrs

4) tstttr
Correct Answer: tstttr
Candidate Answer: tstttr

Question 9.Find the missing number in the following series:
HE O H ool TEIT AN HIST|

43,172, 86, 344, ?

Options:

1) 172

2) 258

3) 129

4) 430
Correct Answer: 172
Candidate Answer: 129

Question 10.'A" is the sister of 'B'. 'B' is married to 'D'. 'B' and 'D' have a daughter 'G'. How is 'G' related to 'A'?

A BHISEA BIBH AT DAEERIB IR DA GA'G' 81 G HA Y FIT Forawtr § 2

Options:

1) Sister

8o

2) Daughter

ERU

3) Niece

AT

4) Cousin

T BT

Correct Answer: Niece

clteir

Candidate Answer: Niece

s7cfsir

Question 11.Anil is as much younger to Vivek as he is older to Tarun. If the total of the ages of Vivek and Tarun is 48 years, how old is Anil?

3iferer frdes @ TSiciell oler &, aR0T & 3cia1 & 937 § | AT Fadeh 3R aor o 311 7 I 48 A &, A JHfetel o 31 AT AT ?

Options:
1) 26

2)33
3) 24

4) 18
http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 331
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Correct Answer: 24
Candidate Answer: 24

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
fFfaf@d faswedt & & g e AT St T 97 2rse; & 38T T T Tk 6T ST ST Fehell |

CHRONOLOGICAL

Options:
1) CALL

2) LOGIC
3) CALICO

4) ANALOGY
Correct Answer: ANALOGY
Candidate Answer: ANALOGY

Question 13.If HOUSE is written as FQSUC , then how can CHAIR be written in that code?

fe HOUSE &Y FQSUC for@r &I &ehdT &, Y CHAIR &l &t fora dehat § ?

Options:
1) DIBJS

2) SBIID
3) SHBGD

4) AJYKP
Correct Answer: AJYKP
Candidate Answer: AJYKP

Question 14.If P denotes + , Q denotes x, R denotes + and S denotes - then what is the value of 18Q12P4R5S6

IRPH I+, QFT 31T x, RFAT 7T + R SFH 3T - grar
18Q12P4R5S6 & #IT TAET ?

Options:
1) 64

2)53
3)81

4) 24
Correct Answer: 53
Candidate Answer: 53

Question 15.If 4 + 3 = 25

and8+4=80,
then,3+2="7
T 4+3=25
I8 +4=80
&,ar3+2=2
Options:

1) 15

2) 10

3)13

4)12

Correct Answer: 13
Candidate Answer: 13

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 4/31
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Question 16.Select the missing numbers from the given alternatives

few gu fehedll 3 & dod FEaT #1371 AT |

(8 |32
?__I 7 |5
2 |6 |3

Options:
1) 30

2) 35
3) 20

4) 25
Correct Answer: 35
Candidate Answer: 35

Question 17.Ramesh starts his journey by walking 2 kilometres towards North. Then he takes a right turn and walks 1 kilometre. Again takes a right turn and walks 2
kilometre. Now which direction is he facing?

TR 2 faraliafiet 3eax 1 3R =en, R ag aifee g 1 fnaliafiex wrer it o aifeey g 3R 2 frcliafiex e 31 3qe A8 farg R 4 8 2
Options:

1) East

kSl

2) West

EIEGE ]

3) South

gfaror

4) North

3

Correct Answer: South
gfaror

Candidate Answer: South
gfaror

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Irregularity is a cause for failure in exams. Some regular students fail in the examinations.

Conclusions: I. All failed students are regular.

II. All successful students are not regular.

AT 9T 7 U I1 Y ey &Y I §, [T 39T & sy /ATang, 1 3R 11 fAerel a3 &1 3muen! AR a1 § & aorded Ocg § 91 98 9iFead: o a2ar &
et Tiia &raT 811 3TIeh! Ty aXeTT § T fou 910 aeraey 3 & #ia-ar A fRad &9 & TEY frsey/Aeadr faemrer 3 gehar § ?
e : TUET H el g1l Sl HROT ATAATATA 8| $o AR Foregmedf aliensit & Ber g1 ¥ |

forsas : 1. @eht et gt arer Fremelt e g ¥

I1. it A g1t aTel et fFafad =7 er g |

Options:

1) Only conclusion I follows

o [ sy T &

2) Only conclusion II follows

ad 11 forseny T &1

3) Both conclusion I and conclusion II follow

1 3R 11 @1 ey Ter &1

4) Neither conclusion I nor conclusion II follows

AT AT I AT &Y II fosens |y &1

Correct Answer: Neither conclusion I nor conclusion II follows

AT AT AT &Y 11 oy T 8l

Candidate Answer: Neither conclusion I nor conclusion II follows

AT I AT EY 1L sy | 8

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 5/31
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Question 19.How many triangles are there in the given figure?

oy a3y oy o oy FogeT & 2

Options:
1) 18

2) 19
3) 20

4)21
Correct Answer: 20
Candidate Answer: 20

Question 20.Which one of the following figures represents the following relationship:

gfie are ot & @ Aefaf@a & o fa o g afr g ?
Birds, Parrots, Bats

Options:
1)

4)

% /,

Correct Answer:

x‘

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccfO9bb87
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Question 21.Which answer figure will complete the pattern in the question figure?

ieT AT 3ol T weeT 7 e Ry s quatar € 2

Options:
1)

2)

3)

4)

Correct Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 7131
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Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& T 3o T 3 § 37 giAe Toraet weat s Sl €1

AN

AN

Options:
1)

2)

3)

4)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 8/31
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Correct Answer:

Candidate Answer:

N
mm |

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

3R FoRe ShaTet Y 19T 3MTpferdl # fawmy o710 R 31efaR Aise shiel ST at Giel! & 916 98 fohd 3cai 3espfal ot fes dam 2

@ -

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 9/31
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Options:
1)

<
OOQ
QOO

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 10/31
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Question 24.If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

39 eeT 7 AT weh qUOT T AB XWT U1 @M S @Y & 18 3cal 3Tl 7 & Hler-r 3mepfar west 3nehfar o wgy wfaifass giaf 2

A B

Options:
1)

2)

3)

4)

Correct Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 11/31
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Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'B' can be represented by 00, 13 etc., and 'A' can
be represented by 55, 69 etc.

Similarly you have to identify the set for the word 'GIRL'

PeATE weat 7 fasredt 3 RRw a0 dear-wegg, 36w & ar aeit garT a=fiv arv §, S fos i) Rw 97w & 3meggh # 81 3megg 1 & Tt iR dfad fraear 0 4 4 a& &
TS ¥, 3 3R 11 & 58 9 I, 37 TSR & T &R H Igel 38T Gfad IR a6 7 F97 FEAT SanT SRIT S Hhell §1 &80T & o, B & 00, 13, 37T gan arirr
ST Gehell § T A 31 55, 69, 31T SaRT G=ffT ST Fehell &1 SHY TR 37! f4U 37T 2reg; 'GIRL' & T Hafg Y Ugiiere 8|

MATRIX | MIATRIX 1]

[o[a]2]2]4 5 [6[72[8]8]
QB |HN|G|L O cla |l |K|[D|R
[1la Lol 6N |6]1|k[o[R[A
1 o|B|N[GIL ArAGIEIINE
laln|e|L|ofe| [sjo[rlal1]k
a|L |o|e|nle| (s|R|all|klo
Options:

1) 02, 56, 97, 24
2) 31, 79, 68, 42
3) 23,97, 77, 11

4) 11, 88, 95, 23
Correct Answer: 23, 97, 77, 11
Candidate Answer: 23, 97, 77, 11

Question 26.The minimum short-term natural hazard is

TYATH JTeeRIcN Hihicieh Hehe it AT & ?
Options:

1) blizzard

TR T

2) earthquake

ST

3) volcanic eruption

SaTenHd! faeme

4) bolt of lightning

TorSTelr T 9HS

Correct Answer: bolt of lightning
fosTel & aHs

Candidate Answer: bolt of lightning
TSrsTelr I T

Question 27.DOTS is a treatment given to patients suffering from

"STEH" AT SeollsT fohdl SIHART S ToIT T SaT & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 12/31
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Options:
1) Polio
qiferst
2) AIDS
AR

3) Hepatitis

feaesfer

4) Tuberculosis

&TIRIRT

Correct Answer: Tuberculosis

&TIRIAT

Candidate Answer: Tuberculosis

STRIPT

Question 28.Which dynasty was ruling in Vijaynagar empire at the time of the Battle of Talikota?

aferepler & g & TAT fASTIeIR WA & iel § UTa2r T TeT AT ?
Options:

1) Sangam

A

2) Aniridu

3) Tuluva

29

4) Saluva

Heldl

Correct Answer: Tuluva
defdl

Candidate Answer: Saluva
Holal

o

Question 29.Which of the following Sultans died while playing Polo or Chaugan?

mmﬂm@aﬁmﬁmﬁ‘@ﬁﬁ#mwaﬁrﬂg?
Options:

1) Qutb-ud-din Aibak

PG VR

2) Balban

EECca)

3) Iltutmish

FoqaTaRT

4) Nasiruddin Muhammad

TR HeFe,

Correct Answer: Qutb-ud-din Aibak
FAGET R

Candidate Answer: Qutb-ud-din Aibak
Q9 D9 m

Question 30.Molten rock below the surface of the earth is called

t{?ﬁ’fméﬁﬁﬁéﬁﬁﬂﬁgﬁ%ﬂﬁmmm%?
Options:

1) Basalt

SdeT

2) Laccolith

Srepiferer

3) Lava

ofrar

4) Magma

I

Correct Answer: Magma

AT
Candidate Answer: Basalt

SaeT

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 13/31
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Question 31.Magnesium is a constituent metal of

Az efaf@d & @ fraenr Hees arg § ?
Options:

1) Chlorophyll molecule

qUERA 3107 (FRier)

2) DNA

A.TA.T

3) Mitochondria

ASIRTT=gaT

4) Ribosomes

TSEEA

Correct Answer: Chlorophyll molecule
quigRa 3107 (FelRifther)

Candidate Answer: Ribosomes

RECIE I

Question 32.Which one among the following components is used as an amplifying device?

et fafa 7 & FiT-a1 ves Jads e F & F TIF 2T s ?

Options:

1) Transformer

TEIHER

2) Diode

s

3) Capacitor

R

4) Transistor

[AIor=ay

Correct Answer: Transistor
afesieeX

Candidate Answer: Transformer

TEIHIER

Question 33.A is an agreement between the communicating parties on how communication is to proceed.

&1 &1 & 1T TFINUT 3T T Teh UHT THSAAT § ST T§ Sd1aT § Toh STy foham 1T |
Options:
1) Path
Ry
2) SLA
TH.T.T
3) Bond
§is
4) Protocol

Sierehler

Correct Answer: Protocol
Elecary

Candidate Answer: SLA
TH.Tel.U

Question 34.Name the gas used in preparation of bleaching powder

faTeT UT3sT A IR &Y A 9T gt ATl A - g 2
Options:

1) Oxygen

iRt

2) Hydrogen

REEG]

3) Nitrogen

AT

4) Chlorine

FelllieT

Correct Answer: Chlorine

FARIA

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 14/31
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Candidate Answer: Chlorine

FeARIT

Question 35.The depletion in Ozone layer is caused by

3 B R F Rercfieor e HROTEIAT§ ?
Options:

1) Nitrous oxide

ASed Jitrass

2) Carbon dioxide

FIeT SEAHTFAES

3) Chlorofluorocarbons

FARIFeR T

4) Methane
e

Correct Answer: Chlorofluorocarbons

FARIFoRIPTET

2
Candidate Answer: Chlorofluorocarbons

FARIFoRIPTET

)

Question 36.Sariska and Ranthambore are the reserves for which of the following

ARERT 3N ORISR Tefaf@a & & frgen guiga v § ?
Options:

1) Lion

&g

2) Deer

fezor

3) Tiger

E1)

4) Bear

e

Correct Answer: Tiger
e

Candidate Answer: Tiger
Ei5)

Question 37.The prestigious 'Jawaharlal Nehru Award for International Understanding' is instituted by

FHeRTSET FASIENY (STXerereTel 3BTETEM) & fAw feam S1et are STaTeatel #g® YR e SanT fodr S § ?
Options:

1) National Centre for Art and Culture

TSET Fell T FiERTcleh o

2) Department of Youth and Sports

g 3R Werege s

3) Nehru Memorial Museum

EE TR TIUGTeT

4) Indian Council for Cultural Relations

AR iEpicieh Hawtl gRug

Correct Answer: Indian Council for Cultural Relations
AR AiEpfas daey giyg

Candidate Answer: Indian Council for Cultural Relations

AR AEpicieh Hawer gy
Question 38.Phosphorus is kept in water because

BIEPRE P ITAT & FIT I@T ST ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccfO9bb87
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Options:
1) its ignition temperature is very high
e AT ST ATTAIT SgT AR gielr g
2) its ignition temperature is very low
FfeR SHHT SaeT ATTHIA TG T BITT &
3) its critical temperature is high
Fifh ITHT Fifcieh dTIHIT 37 gaT &
4) its critical temperature is low
FIR 3R shifcreh I Fa 81T &
Correct Answer: its ignition temperature is very low
FifeR SHHT SaTT ATTHIA T T BITT &
Candidate Answer: its ignition temperature is very low
Fifh TP Sacle] dTIHIT g FA glaTg

Question 39.The famous Dilwara temples of Mount Abu are a sacred pilgrimage place for the

arse 319 R FegY Rearst Afrey Fefafld # & frg aaer & afas e g ?
Options:

1) Buddhists

CIry

2) Jains

ST

3) Sikhs

R

4) Parsis

&

Correct Answer: Jains

ST

Candidate Answer: Buddhists
CIry

Question 40.The unit of measurement of noise is

3TaTST T AT T AR FATE ?
Options:

1) Decibel

sfaeer

2) Hertz

gt

3) Amplifier

jur=ecieairy

4) Acoustics

ThifEeTT

Correct Answer: Decibel

EECC

Candidate Answer: Heriz

g

Question 41.The commonly used coolant in refrigerators is

IroReX F FAI: e ceeh(@ele) F1 g faar ST § ?
Options:

1) Ammonia

AT

2) Nitrogen

BlEEED]

3) Freon

R3fteT

4) Oxygen

SierelisteT

Correct Answer: Freon
3fteT

Candidate Answer: Freon
i

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 16/31
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Question 42.The complete form of 'IC'" in electronics is

FolFcIoteErd 31 'IC' &7 Ut &9 AT § ?
Options:

1) Internal circuit

Scoiol Oithe

2) Independent circuit

gf3isee aféhe

3) Integrated circuit

9IS Afthe

4) Inbuilt circuit

go1-fyee afée

Correct Answer: Integrated circuit
ZA9IRE Afthe

Candidate Answer: Integrated circuit

génres Tfhe
Question 43.Who among the following did Gandhiji regard as his political Guru?

rafaf@d # & fnd aitelisht sraar gereifae a7 #era & 2
Options:

1) Mahadev Desai

FECT SHTS

2) Dayanand Saraswati

SATele, FEIAT

3) Acharya Narendra Dev

T G &

4) Gopal Krishna Gokhale

3Tl 0T N

Correct Answer: Gopal Krishna Gokhale
T ST TGl

Candidate Answer: Gopal Krishna Gokhale
TS 0T TGl

Question 44.Which of the following constitutional Amendment Act, deals with the Elementary Education as a Fundamental Right?

o 7 § wl-ar sfea wive i i R & 30 dfeR F s A g yEefa g ?
Options:

1) 84th Amendment Act

84 a1 Ay TRy rafaad

2) 85th Amendment Act

85 a7 iy TRl s

3) 86th Amendment Act

86 a1 dfaymeT axiee ffage

4) 87th Amendment Act

87 a1 TiaynsT TriY=T fafaas

Correct Answer: 86th Amendment Act
86 a1 TiaymeT TRl s

Candidate Answer: 86th Amendment Act
86 a1 TiaYTeT TR Al

Question 45.The World's largest island is

Ta9a 7 HH F37 GHI-HHAE FiA-HT g ?
Options:

1) Greenland

DICCE

2) Iceland

3Tl

3) New Guinea

=g ffaar

4) Madagascar

HSTER

Correct Answer: Greenland

ATl

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccf09bb87 17/31
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Candidate Answer: Greenland

ATl

Question 46.Sea water is saltier than rain water because

TG T ST a1 & STef T 39&TT ek 0T el gaT § it

Options:

1) Sea animals are salt producing

TG & STeq oAqUT 3cee Y ¢

2) The air around the sea is saltish

THG & IRT 3N gar arg Agqon gl §

3) Rivers wash away salts from earth and pour them into the sea

aAfear g & oo FETR A Sl § R T A st et §

4) Sea beds have salt producing mines

TG o TaART OR oot YeT et arel @it glell &

Correct Answer: Rivers wash away salts from earth and pour them into the sea
ATeTT gt & o0T TR of S § 3R T F A &l &

Candidate Answer: Rivers wash away salts from earth and pour them into the sea

et gedt & F0T FETR o Siielt § 3 T 7 srer &t §

Question 47.Pannalal Ghosh played which of the following musical instruments?

TeoATellel BY fio=1flld # § Hiel-r a1eT IF Jard & ?
Options:

1) Flute

atad

2) Sitar

faarR

3) Violin

Elpcel

4) Santoor

TR

Correct Answer: Flute

TRRT

9
Candidate Answer: Santoor
R

LN

Question 48.Rio Summit is associated with

R FrEs gt & G99 e g ?

Options:

1) Convention on Biological Diversity

Sg-fafatrar ) @t

2) Green house gases

AT g3 AT

3) Ozone depletion

3iTSieT Rercienor

4) Wet lands

s s

Correct Answer: Convention on Biological Diversity
Sta-fafayar «w geRes

Candidate Answer: Convention on Biological Diversity

Sa-fafatar w @&t

Question 49.Polyploidy arises due to change in the

gITOIAT (diferceas) free gRade g o g & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD E=&appid=1a4fff78943b24af40c79deccfO9bb87
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Options:

1) number of chromatids

PR HT eI

2) structure of genes

SiieT I TG=AT

3) number of chromosomes

PAEE g

4) structure of chromosomes

PIFGIA T TIAT

Correct Answer: number of chromosomes
PIHAEH HT T

Candidate Answer: structure of genes
ST Fr TR

Question 50.Which South Korean author in May 2016 won the 2016 Man Booker International Prize for her novel 'The Vegetarian'?

T aferoT RIS e 1 75 2016 F 9= 39=arq 'g AR & fAw 2016 +1 A7 FH ST R e ?
Options:

1) Han Kang

g1 &

2) Yiyun Li

g o

3) Tami Hoag

& ger

4) Taya Zinkin

arar At

Correct Answer: Han Kang

&1 &t

Candidate Answer: Tami Hoag

anem

Question 51.A and B together can finish a work in 30 days. They worked for it for 20 days and then B left the work. The remaining work was done by A alone in 20
days more. In how many days can A alone finish the work?

A 31k B el 3 vk 1T 1 30 et & TAred % Toha €1 3eieY 20 T et foham, 305k 1 B o it o3 T3] QW e A o 3rher foRam foras 20 Rt & Ty 31T o
FATST A 37ohell 98 1A fhdel fead H X ThaT & ?
Options:

1) 48 days

48 f&at

2) 50 days

50 feet

3) 54 days

54 feeT

4) 60 days

60 f&eT

Correct Answer: 60 days

60 &t

Candidate Answer: 60 days

60 feeT

Question 52.The centroid of an equilateral triangle ABC is G. If AB is 6 cms, the length of AG is

el aTg F9geT ABC &1 e G &1 A AB = 6 WM. &, T AG &Y TS FAT gl ?
Options:

1) V3cm

V3 oA

2) 2v/3cm

2V3 A

3)3v2cm

V2 JAr

4) 2v/2 cm

2V2 a.F

Correct Answer: 2V3 cm
2V3 oA
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Candidate Answer: 2V3 cm
2V3 a

Question 53.A merchant changed his trade discount from 25% to 15%. This would increase selling price by

TRl SATIRY & 379e SAaHrly 98 T &X 25% W 15% F &Yl S8 s Hed 7 et gfg gheft 2

Options:
1) 3%

2) 6%%
3) 13%4%

4) 16%:%
Correct Answer: 13%4%
Candidate Answer: 134%

Question 54.If 177 is divided into 3 parts in the ratio 1/2 : 2/3: 4/5, then the second part is

T 177 30 1/2 2 2/3: 4/5 T AT & clieT S0 3 Fqe7ercl FoRam ST A AT GFRT 1T 34T g1l ?

Options:
1) 75

2) 45
3) 72

4) 60
Correct Answer: 60
Candidate Answer: 60

Question 55.If percentage of profit made,when an article is sold for Rs.78, is twice as when it is sold for Rs.69, the cost price of the article is

Tl & T Rs. 69 H Iaal & TSI Rs. 78 # S=Iet § o187 &7 FTAId GILAT 81Tl & | 39 A% T 3 Hod T G ?

Options:
1) Rs. 49

2) Rs. 51
3) Rs. 57

4) Rs. 60
Correct Answer: Rs. 60
Candidate Answer: Rs. 60

Question 56.The ratio between Ram's age and Rahim's age is 10:11. What is the age of Rahim in percentage of Ram's age

1 3T T T 3T H 10: 11 T 3T &1 I 1 3G & TEH T Y 1 IR0 TABT ?
Options:

1)

0¥y %

2) 110%

3)
1113455

4) 111%
Correct Answer: 110%
Candidate Answer: 110%

Question 57.Gautam travels 160 kms at 32 kmph and returns at 40 kmph. Then average speed is

e 32 .7, /8T Fr T & 160 5.3, elar & 3% 40 .. /ger $r arer & slear &1 3iwa e sase ?
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Options:
1) 72 kmph
72 .7 /gver
2) 71.11 kmph
71.11 .. /gver
3) 36 kmph
36 .30, /guer
4) 35.55 kmph
35.55 .30, /guer

Correct Answer: 35.55 kmph
35.55 for. . /gver

Candidate Answer: 35.55 kmph
35.55 fop.a)./aver

Question 58.If x=3/2, then the value of 27x3-54x2+36x-11 is

I x=3/2 B AT 27x3-54x2+36x-11 T AleT AT VT ?
Options:

1) 11%

2) 11%

3) 1234

4) 125
Correct Answer: 125
Candidate Answer: 12%

Question 59.If a+b+c = 6 and ab+bc+ca = 1, then the value of bc(b+c) + ca(c+a) +ab(a+b) +3abc is

Ifg a+b+c = 6 31X ab+bc+ca = 1 &, A be(b+c) + ca(c+a) +ab(a+b) +3abc FT AT AT HIfST ?
Options:

1) 33

2) 66

3) 55

4) 23
Correct Answer: 66
Candidate Answer: 23

Question 60.If the angles of a triangle are in the ratio of 2:3:4, then the difference of the measure of greatest angle and smallest angle is

T Tandl T383eT & I0T 2:3:4 & Tl A g1 ol Had 3 0T A FYeTTH 0T & AT T 3fec] F4T g1 ?
Options:

1) 20°

2) 30°

3) 40°

4) 50°
Correct Answer: 40°
Candidate Answer: 40°

Question 61.In AABC, A = 90°, AD L BC and AD = BD = 2 cm. The length of CD is

Jf& A ABC & 2A = 90°, ADLBC 3R AD = BD = 2 .7, g1 dt CD &Y TS F7 g1afy ?
Options:

1)3cm

3.

2)3.5cm

3.5 3.7

3)3.2cm

3.2 3.3

4)2cm

23
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Correct Answer: 2 cm

239

Candidate Answer: 2 cm
2 {.A
Question 62.

Ittan 45°= Cotl , then the value of 8, In radians is

TS ran 45" = cot OF, 71 & =7 70T I3 &7 7o)

Options:

1Hn

2) /9

3) /2

4)n/12

Correct Answer: /9
Candidate Answer: /12

Question 63.(251 + 252425342544255) is divisible by

(251 + 252 4 253 4 254 1 255) yrafaf@a & ¥ e R &2

Options:
1) 23

2) 58
3) 124

4) 127
Correct Answer: 124
Candidate Answer: 124

Question 64.The average of 12 numbers is 9. If each number is multiplied by 2 and added to 3, the average of the new set of numbers is

12 FeEamsit &1 3ihad 9 §1 A Tede HEaT H 2 F 0T R S X 3 ST S A St & AU e & i a4 g ?

Options:
1)9

2) 18
3)21

4) 27
Correct Answer: 21
Candidate Answer: 21

Question 65.

i i
I ru : —I| =5 then the value of 2% - - will be
i Ay A

ITEE,’I:-A 1-5}233&. a‘raﬁ-ﬁsﬁrma?nm

Options:
1)1

2)3
3)0

4)2
Correct Answer: 0
Candidate Answer: 0
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Question 66.

Fx o FF
[ U 0 SR LS

f—— = = 2 _tha valoeof x is
iR T g B

WZtx+ o —x ;

oG s Te—— = 2 W & W A
gEFE — WL —X%

Options

1) %

2)%

3)

a5

4) %

Correct Answer:

245

Candidate Answer:

iP5

Question 67.The perimeter of two similar triangles ABC and PQR are 36 cms and 24 cms respectively. If PQ = 10 cm then the length of AB is

2 TR S eget ABC 31X PQR T aRferar smemer: 36 A 31 24 AL IR PQ = 10 A3, § Y AB it arwris ST ?
Options:

1) 18 cm

18 T

2)12cm

12 3.7

3)15cm

15 .7

4) 30 cm

30 &

Correct Answer: 15 cm

15 3.

Candidate Answer: 15 cm
15 J.7.

Question 68.In a triangle ABC, AB = 8 cm, AC = 10 cm and »B = 90°, then the area of AABC is

ABC f38[s 3 AB = 8 W.al. , AC = 10 9.7, 31X 2B = 90°, AT AABC T &¥=Tthel T 81911 ?
Options:

1) 49 sq.cm

49 .7.2

2) 36 sq.cm

36 {72

3) 25 sq.cm

25 {2

4) 24 sq.cm

24 Qa2

Correct Answer: 24 sq.cm
24 7.2

Candidate Answer: 24 sq.cm
24 A2

Question 69.
ADC B atangle o Sin IZ"'-?-"]I - ‘-F , Ui the
[

C
valie ot Sll'l::; I8

ABC TR T ¥, TR aw(E)- S

[ i -
sin = &1 = 41 g
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Options:
1)

|-II| e

%
2)0
3) %

4)

W3

2

Correct Answer: 2
Candidate Answer: 2

Question 70.The compound interest on Rs. 64,000 for 3 years, compounded annually at 7.5% p.a. is

Rs. 64,000 #r TR 9% 7.5% a1fder i &x & 3 I 7 Tohq g saret (FRY afay af FfSrer o st &), @ grem 2

Options:
1) Rs. 14,400

2) Rs. 15,705
3) Rs. 15,507

4) Rs. 15,075
Correct Answer: Rs. 15,507
Candidate Answer: Rs. 15,507

Question 71.The angles of elevation of the top of a temple, from the foot and the top of a building 30 m high, are 60° and 30° respectively. Then height of the temple
is

Teh 30 Hiex S SHARA & o Ta Y & TRl AT & MY 9797 91 sher: 600 31K 300 T 3eeTheT 0T a7 | Al # FurS IS ?
Options:

1)50 m

50 #Hrex

2)43m

43 e

3)40 m

40 Frex

4)45m

45 Hiex

Correct Answer: 45 m

45 ;X

Candidate Answer: 45 m
45 Al

Question 72.Study the pie-chart given and answer the following questions.
AT T 7T 91 e o 3regae ST 3R AeAfai@d ueEt & 3ear RS

P resn B,

%

If the miscellaneous charges are Rs. 6000, then the advertisement charges are
Tfe fafger 9aR Rs. 6000 & df fAama=r 9K Far § ?
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Options:
1) Rs.12000

2) Rs.27000
3) Rs.90000

4) Rs.25000
Correct Answer: Rs.27000
Candidate Answer: Rs.27000

Question 73.Study the pie-chart given and answer the following questions.
AR T 91T 918 =1E o eI PSR Frafaf@d et & 3car RS

- M B,
£

The central angle of printing charge is x more than that of advertisement charge. Then the value of x is

TUTS THR T Shegi T HI0T AT THR T x 3170 &, A x T FlT FIT g1amm ?

Options:
1) 72°

2) 61.2°
3) 60°

4) 54.8°
Correct Answer: 61.2°
Candidate Answer: 61.2°

Question 74.Study the pie-chart given and answer the following questions.
AR T 91T 918 =1E o 31T RS 3R Rrafaf@d gt & 3car RS

M s,
4%

What should be the central angle of the sector 'cost of paper'?

FITST ST FIFA & TFe FT hoglT PIOT FIAT BT TIRT ?
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Options:
1) 22.5°

2) 54.8°
3) 36°

4) 16°
Correct Answer: 36°
Candidate Answer: 36°

Question 75.Study the pie-chart given and answer the following questions.

AR T 91T 918 =1E o eI PSR Frafaf@d et & 3car RS

Pt B,

i%

Prailieg chasnics.
154
oy e 1 e ]
.-'-I
Fatidwen, 1% 4

The ratio between royalty and binder's charges is

s 3R ForeaTsT & TeIR & e 7 35T T § ?
Options:

1) 5:6

2)5:8

3) 6:5

4) 8:13

Correct Answer: 5:6

Candidate Answer: 5:6

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button

corresponding to it.

RECEPTACLE

Options:

1) COMPARTMENT

2) HOLE

3) CONTAINER

4) FUNNEL

Correct Answer: CONTAINER

Candidate Answer: CONTAINER

Staff Selection Commision

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding

to it.

VANITY

Options:

1) PRIDE

2) LOVE

3) COURAGE

4) HUMILITY

Correct Answer: HUMILITY

Candidate Answer: LOVE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.

Options:

1) Acquisision
2) Acgiusition
3) Acquisition
4) Acquisetion
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Correct Answer: Acquisition
Candidate Answer: Acquisition

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

If you permit me to speak the truth (A) / I shall state without hesitation (B) / that you have done a mistake (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I succeeded persuading him (A) / to come with me (B) / only after hours of argument (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Vermin (A) / does much harm (B) / to crops (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: D

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Light is than sound.
Options:

1) faster

2) more faster

3) sounder

4) lighter

Correct Answer: faster
Candidate Answer: faster

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The man for the purpose never did what was expected of him.

Options:

1) supplied

2) favoured

3) employed

4) cited

Correct Answer: employed
Candidate Answer: employed

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

There was a serious between the two brothers.
Options:

1) altercation

2) alteration

3) aberration

4) altieration
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Correct Answer: altercation
Candidate Answer: aberration

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To give oneself airs

Options:

1) Space to breathe

2) Time

3) Acting strange

4) Behaving arrogantly

Correct Answer: Behaving arrogantly
Candidate Answer: Time

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

At a stone's throw

Options:

1) At a short distance

2) At a place where quarrels take place
3) At a great distance

4) A quarry

Correct Answer: At a short distance
Candidate Answer: At a short distance

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bone of contention

Options:

1) A delicious non-vegetarian item
2) An item which made them content
3) Cause for quarrel

4) A link between them

Correct Answer: Cause for quarrel
Candidate Answer: A link between them

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who has lost the protection of the law
Options:

1) Outlaw

2) Immigrant

3) Outcast

4) Orphan

Correct Answer: Outlaw

Candidate Answer: Outcast

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Falsification of documents etc.
Options:

1) Xeroxing

2) Forgery

3) Laminating

4) Copying

Correct Answer: Forgery
Candidate Answer: Forgery

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

To make atonement for one's sins
Options:

1) Expiate

2) Renounce

3) Remonstrate

4) Recant

Correct Answer: Expiate
Candidate Answer: Recant
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Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The boys absented themselves for two days.
Options:

1) were absented

2) absented

3) had absented

4) No improvement

Correct Answer: No improvement
Candidate Answer: had absented

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My mother insists on setting up something everyday for charity.
Options:

1) on

2)in

3) aside

4) No improvement

Correct Answer: aside

Candidate Answer: aside

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He began on a new business venture.
Options:

1) embarked

2) begun

3) opened

4) No improvement

Correct Answer: embarked
Candidate Answer: embarked

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I have to say them the truth.
Options:

1) tell

2) state

3) speak

4) No improvement
Correct Answer: tell

Candidate Answer: tell

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The SSB will interview the candidate between 11 a.m. and 3.00 p.m.
Options:

1) 11.00 am to 3 pm

2) 11.00 from 3 pm

3) 11.am by 3.00 pm

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

What did man do in his spare time?
Options:

1) Made stone tools

2) Made hoes or pots

3) Weave cloth

4) All of the above

Correct Answer: All of the above
Candidate Answer: All of the above

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

In the passage, "division of labour" means?

Options:

1) Specialization to acquire greater skills

2) Learning arithmetic

3) Working in groups

4) Working from home

Correct Answer: Specialization to acquire greater skills
Candidate Answer: Working in groups

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

To which period do the Neolithic times refer:
Options:

1) Later part of the Stone Age

2) Early part of the Stone Age

3) Later part of the Ice Age

4) Medieval times

Correct Answer: Later part of the Stone Age
Candidate Answer: Early part of the Stone Age
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Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

Chiefs were elected by the community for their
Options:

1) age

2) qualities of leadership

3) responsibility and courage

4) trust and loyalty

Correct Answer: qualities of leadership
Candidate Answer: qualities of leadership

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

The meaning of 'privilege' is
Options:

1) allowance

2) favour

3) benefit

4) interest

Correct Answer: benefit
Candidate Answer: benefit
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